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Economics II   Macroeconomics (EFA)
RESIT  --  Monday, 3 September 2007    (60 min.)
Please note: 

· At first please check the exam paper: are there 9 pages / all well readable?

· Please only work in the exam paper; use the boxes for your answers. Do not use own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 

· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  
NEW!: To obtain a 100% marks you have to gather 60 points. There are four tasks worth 20 points each   you have to answer only 3 of the four tasks!
                                            Important: Only 3 tasks will be marked ! 
In case you worked at more than 3 tasks it is necessary that you clearly show which 3 tasks are to be marked (= check below). If you don’t indicate which tasks to mark, only the first three will be counted. 
· Permitted are:  pens, ruler, calculator (without word processing function), English language dictionary. 
· Please do not use a pencil (except in diagrams) nor red pens.
· Mobile phones have to be switched off!
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Task 1 You live in Bremark, an economy with the following consumption function: 
                                         C = 2000 + 0.75 Y 
 (20 points)
The economy has no government expenditures and does not have any foreign trade at present, private investment is constant at 500.

1.1 Explain the concept of the consumption function (in your own words). Who invented this model (names of author and model)? Can it be verified empirically?
 (5 P)
1.2 Complete the following table:    
(4 P)
	Income 
	0
	500
	2000
	4000
	6000
	8000
	10000
	12000
	14000
	16000

	Consumption
	
	
	
	
	
	
	
	
	
	

	AD
	
	
	
	
	
	
	
	
	
	


1.3 Calculate the equilibrium level of income. 
 (4 P)
1.4 We are able to increase the investment by I = 100
 (4 P)
Calculate the new equilibrium. You will find, that Y is significantly larger than I. Explain this effect – what is its economic name? 
1.5 Plot the consumption function, investment and aggregate demand on the 45° diagram below. Clearly identify the equilibrium level of income. 
[Make sure you can show both equilibria – and don’t forget to properly label the axes]
 (3 P)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Task 2 National Accounting 
(20 Points)
2.1 Define the GDP and describe the concept of this measure. 
(4 P)
2.2 Show the way, the national income is derived from the GDPM – also explain what the “M” and the “F” stand for.  ’
(6 P)
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2.3 Describe (= explain in your words) the concepts (steps) you used in 2.2. 
(4 P)
2.4 Which are the three ways of measuring GDP?    Describe 
- the basic concept of all three approaches 
- and in which theoretical models there are used in which way.    
 (6 P)
The three ways of measuring GDP

      - the product method

      - the income method

      - the expenditure method

Task 3 Basic Theories / Economic Schools
[20 points]
3.1 Describe the basic ideas of the theory founded by Adam Smith and described in his book “An inquiry into the nature and causes of the Wealth of Nations”. Especially discuss the mechanism and the implications of free markets and the connected theories.
[8 pt]
3.2 “In some situations the government can improve market outcomes”. 
Which are the situations where this is true from a theoretical point of view? 
[4 pt]
3.3 Describe the meaning of the “the importance of aggregate demand”, the multiplier process and the demand management by fiscal and monetary policies. To which theory do these concepts belong (name of theory/founder). 
[8 pt]

Task 4 Short-run Macroeconomic Equilibrium
[20 points]
The following table shows part of a country’s national expenditure schedule (in £ billions).

	National income (Y)
	100
	120
	140
	160
	180
	200
	220      

	National expenditure (E)
	115
	130
	145
	160
	175
	190
	205      


4.1 What is the government expenditure multiplier? 
[3 pt]
(a)
For each £20bn rise in Y there is a £15bn rise in E.


( mpcd = ¾
( multiplier = 1 / (1 – ¾) = 4.

4.2 What is the tax multiplier? 
[2 pt]
  (b)
The figure for the tax multiplier is 1 less than the expenditure multiplier, and is negative.

= –3  (see page 529 of text)

4.3 Assume that full employment is achieved at a level of national income of £200 billion. 
Is there an inflationary or a deflationary gap, and what is its size? 
[3 pt]
(c)
The current equilibrium national income is £160bn (where Y = E)

Thus national income is £40bn below the full-employment national income.

With a multiplier of 4, there is a deflationary gap of £10bn
4.4  Illustrate this situation in a graph, clearly labeling the equilibrium and the gap. (To do this you have to carefully think about the scales of the axes before drawing!) 
[3 pt]
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


4.5 By how much would government expenditure have to be changed in order to close this gap (assuming no shift in other injections or withdrawals)? 
[3 pt]
(d)
It would have to be increased by £10bn.

4.6 Alternatively, by how much would taxes have to be changed in order to close the gap (again assuming no shift in other injections or withdrawals)? 
[3 pt]
(e)
With a tax multiplier of –3, taxes would have to be cut by £40bn / 3 = £131/3bn.
4.7 Alternatively, assuming that there were initially a balanced budget, and that the government wanted to maintain a balanced budget, by how much would both government expenditure and taxes have to be changed in order to close the gap? 
[3 pt]
 (f)
The balanced-budget multiplier is 1 (in this case 4 – 3) (see Box 17.1 on page 530).

Therefore to raise national income by £40bn, both government expenditure and taxes would have to be raised by £40bn.














Good Luck !
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